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,  find a matrix M such that M BA= −1.

(b) P z z z z( ) ( )( ).= − − +2 10 282

(i) Plot on an Argand diagram the solution set of P(z) = 0.

(ii) Verify that the three points form an equilateral triangle.

(c) (i) z i1 6 62= +(cos sin )π π  and z i2 3 33= +(cos sin )π π  where i2 1= − .

Calculate z z1 2  in the form x iy+  where x y, .∈R

(ii) ( )( ) .2 3 1 5+ + = − +i a ib i  Express a ib+  in the form r i(cos sin )θ θ+  and

hence, or otherwise, calculate ( ) .a ib+ 11

ANSWERS

3 (a) M =
−
⎛
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(b) (i) z i= ±2 5 3,
(c) (i) 0 + 6i (ii) 1 32 32+ − +i i,

COMPLEX NUMBERS & MATRICES (Q 3, PAPER 1)

1996

(© Tony Kelly & Kieran Mills)


